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1. A closed flask of air (0.600L) contains 1.3 moles of particies.
The pressure probe on the flask tea student
uses a syringe to add an additional 0.4 moles of air through
the stopper. Find the new pressure inside the flask.
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2. A 3.1 mole sample of gas occupi@t 0.00 °C. What
is its new volume when the temperature is increased to
50.00°C and the moles of gas increase to 9.3 moles?
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3. In each case, assume pressure inside the flask is

880mmHg. Solve for the ambient pressure.
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Go back and check all your problemsf A CI 8l",
v’ never use Celsius for temperature Mg

v’ Don't use PV = nRT at all on this test. We only learned that
yesterday. It won't work here.
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1. What volume will 0.693 moles of oxygen be at STP?
(check one) This problem's type is: before-and-after Jylow

It cap be solved using cratios Sepy=nRT e Lot
o

= 5.7

2. What will be the new volume if 250 mL of gas at STP changes to 4.0 atmospheres pressure and

30°C temperature?
(check one) This problem's type is: )é’ore-and—qﬂer anow
It can be solved ntmo: oPV=nRT
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3. A 9.0L sample of gas is at STP. When the temperature is raised to 273°C and the pressure
remains constant, what will be the new volume of the gas?
(check one) This problem's type is: )‘/m-and—qﬂer anow

It can be solved usingyGratios  oPV=nRT
q.0L , / BUek Laetm) (6 Of
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4. Carbon monoxide, a poisonous gas, has a formula of CO. How many moles of carbon

monoxide occupy a volume of 0.445 L at STP”
(check one) This problem's type is: ubcfm-and»aﬁer s

It can be solved using ©ratios ASPV=nRT (l m&MYO yJds 4_)

P\=nRT n:% n= (oﬁOB’?,l‘”"‘ ’27304)

n= 0.0\46

5. Ammonia gas occupies a volume of 450 mL at a pressure of 720 mm Hg. What volumc will it
occupy at standard pressure?
(check one) This problem’s type is:_2before-and-after cnow
It can be solved using ;‘auas oPV=nRT
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:‘IG Q . ‘!ﬁlled‘weather balloon with a volume of 30.0 L is released at sea level &t 100.1 kPa and
f i‘) 18 °€’,§iﬂﬂ the volume the b il maximum altitude where the is
241.0 kelvins and the pressure(is 0.604
(check one) This problem's type is:'5abefore: fer tnow (ol .| KB, [l etm\ _ 0 %
It can be solved using Eatios PV=nRT X 1003 2 *q vy
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7. A gas filled weather balloon with'a volume of 80.0 L is released at sea level at 102.0 kPa
pressure and 27.0°C. The balloon expands to final volume of 835.0L at maximum altitude,

where the temperature is 0.00°C. What will be the pressure at this time?
(check one) This problem's type is: ﬁefore—and—aﬁer onow

It can be solved using [séatios cPV=nRT
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8. A gas filled weather balloon contains 33.0 L of air at 10.0°C at a pressure of 745. Torr. How
many moles of gas are in the balloon?
(check one) This problem’s type is: tbefore-and-afier

”Eimwumg ur;l:; )?’:\-nRT fo_ol80aﬁ‘®<%0 L.> 2 m r
e b (0-09%] £ )( 2839
[LAFeks o

9. At what temperature would you need to have He to have 5.75 moles occupy a volume of 45.0L at
standard pressure?

(check one) This problem's type is: cbefore-and-after »5“'
It can be solved using oratios ,EéV-nRT
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10. A sample of oxygen gas occupies a volume of 250 mL at 23.8 psi. What volume will it occupy
at 19.5 psi pressure?
(check one) This problem's type &:&efm-and—aﬁer anow
It can be solved using [xatios ©PV=nRT
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